
HRADIŠTĚ C, DÚ32b, 26.04.2019, 

Taktika obtížnější 

 

 

1.příklad     Černý na tahu (pš 2/190) 
XABCDEFGHY 
8r+-+rsn-mk( 
7zpp+-+-zpl' 
6-+pwQ-sn-zp& 
5wq-+-vL-+-% 
4-+-zP-+-zP$ 
3+LzP-+-sN-# 
2PzP-+-zP-+" 
1tR-+-tR-mK-! 
xabcdefghy 

Černý zahrál 1...Vad8. Jak odpověděl bílý? 

 

 

 

 

 

 

 

3.příklad     Bílý na tahu (pš 4/276) 
XABCDEFGHY 
8-+ltr-tr-mk( 
7+-wqnwQ-+p' 
6p+-+-zpp+& 
5+-+-zp-+-% 
4P+-+P+N+$ 
3+LzPp+N+P# 
2-+-+-zPP+" 
1+R+-+K+-! 
xabcdefghy 

? 
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2.příklad     Bílý na tahu (pš 3/168) 
XABCDEFGHY 
8-tr-tr-+-mk( 
7+-+-sN-zpp' 
6-zp-zPqzp-+& 
5+-+Rzp-+-% 
4-+-sn-+-+$ 
3+-+-+-+-# 
2P+-+-zPPzP" 
1+Q+R+-mK-! 
xabcdefghy 

? 

  

 

 

 

 

 

 

4.příklad     Černý na tahu (pš 3/138) 
XABCDEFGHY 
8-tr-+-+k+( 
7+q+-+p+p' 
6p+-+p+p+& 
5zPr+-+n+-% 
4-+-vlNzP-+$ 
3+P+-+-+-# 
2PvL-+-+PzP" 
1+R+-wQR+K! 
xabcdefghy 

? 

 

 

 


